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D):l,:em“ (2x=3)+C

E)iezxn (2x=5)4 C

Select one:






The appropriate trigonometric substitution that solves the integral
[ VxZT+6x + 5dx is:

A) x=3+2sin@
B) x=3+2sech
C) x=3+2tané
D) x=-3+ 2secl
E) = -3+ 2sin@
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The appropriate trigonometric substitution that solves the integral
JV=5+6x —x%dxis:

A) x=-3+ 2sech
B) x=3+2tan0
C) x=3+12sin0
D) x=-3+2sin0
E) x=3+2secl
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Using trigonometric substitution
the integral [ V1 — 4x? dx =

a) %sin‘i(Zx) + ixm +c
b) %sin_l(x) +§m+ c
c) %sin“i(Zx) - ixm +c
d) j}sin‘l(Zx) + %xm + ¢
e) isin‘l(z;r) +xV1—4x2 +¢



The value of _[

| —sec’ x

tan® x
—X +C
—CcOS 2Xx
+C
2
3 T
oSS x) S o
- — +C
3 3
2
COS "~ ) o
—sin“ x+C
Sin2x
+C
2

dx 1S :



The appropriate substitution for the
1

integral [ e is:
a) x=(3tanf) -1
b) x = 10sin @

c)x+1=2tan@
d) x=(2tanf8) -1
e) x—1=3tané



The Integral that represents the area enclosed by y=x+1,y=3x,y=0,
X=0 IS

N[+ Ddx+[[B-x)dx  D)[ (&-2y)dy
8)f,3-Ddy+[[4-29)dy B[ G-ydy+[[-1dy

Q) f03(3 - x)dx
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The value of _[ - dx 18
>
_7 sin(?/)
a2, X 4+C
2x 4
sin( 2/ )
b. o | £.4C
2X 4
) sin( 2 :)
C. - A.+C
2x 4
: */
7 sin( <)
d. —+ S
2x 4
a0/
o sin( <)
e. 3 - - R

2 4



Complete: fxcos x dx = cosx +

(A) sinx
(B) xsinx
)C) x

(D) cos®x

(E) none of the above

+ C, where C is a constant



@ O O OO

Assume f(x) is a differentiable function.

f  f(x) dx?

(A) 2 f(x) - f J—lx“f(ﬂ dx

(B) 2*f"(x)- fa::’f{x} dx
(© 33/ +C

(D) 32f(x) - fff{x) dx

® 2100~ [ 3@ dx

Which of the following expressions is equal



Determine all values of p for which the integral

m ¥
J, e?*dx isconverge

A R—(0)
B. R

C. (—o,0]
D. (==,0)
E. (0,=)

Correct answer

(@ D



(r) arcsin x

V1 — x?

dx equals

(a) —v1 — 22 arcsin(z) + V1 — 22+ ¢
(b)'v1 —z2 arcsin(z) —v1—22 + ¢
¢) —v/1— 22 arcsin(z) —z + ¢

(d) —v1— 22 aresin(z) + z + ¢

(d) V1 =22 arcsin(z) — z + ¢



3, =5,

X

(A) 2Vx+4+2In|Vx+4+2|-2In|Vx+4-2|+C

B) 2Vx+4+InjVx+4+2|-InjVx+4-2|+C

(C) 2yx+4+2In lﬁi+:| +C

(D) 2Wx+d+InfVx +4-2|-In|vx ¥4+ 2|+C

(E) YX¥%+2In |"”ET 4 c



